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)The population of a village was 26 000 people in the year 2011. Due to very few
job opportunities 15% of the people move away in 2012. In 2013 the population
decreased by 5% that of 2012, what was the population at the end of 2013?
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Mid Unit Review Worksheet

o 2) Thomas walked his dog for 37 minutes today, 4
1) 170% of 58 more minutes than yesterday.

Write as a percent his walking time today compared
to his walking time yesterday.
100% of 58 = 58
Round your answer to the nearest percent.

10% of 58 = 5.8 Yesterday= 37 -4
X7 X7 = 33 minutes
70% of 58 = 40.6 37

- 0
33 1.1212121.. =112%

170% of 58 = 98.6

3. A number is decreased from 67 to 27. Find the decrease as a percent.

% decrease = Difference x 100 %

Original

=40_ x100 %
67
= 0.597.... x100%
=597%
=60%

4) The number of members in the Math Club is increased from 114 to 268. Find
the increase as a percent

% increase = Difference x 100 %

Original

=268-114 x100 %
114

=154 x100 %

114
= 1.35087719.... x 100%
= 135%

5) At the beginning of 2005, the town of Richmond had 900 residents. The rate of
population growth after that was estimated to be 0.6% per year. Calculate the
population of Richmond at the beginning of 2007.(after 2 years)

Year 1 Year 2

0.6% of 900 0.6% of 905.4

0.006 x 900 0.006 x 905.4

5.4 5.4324

New Pop = 900 + 5.4 =905.4 New Pop = 905.4 + 5.4324 =910.8324

=911
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6. a) Write 15.5% as a fraction in simplest form and as a decimal.
155 = 155 = 31 = 0.155

100 1000 200

b) Write 6 3/4% as a decimal then a fraction in simplest form.
6.75 = 675 = 27 = 0.0675

100 10 000 400
c) Write 0.54% as a fraction and as a decimal.
054 = 54 = 27 = 0.0054

100 10 000 5000
d) Write 18/240 as a decimal and as a percent.

18 = 9 =0.075=7.5%
240 120
e) Write 0.003 as a fraction and a percent.
_ 3 = 03%
1000

8) A candy bar has a mass of 44 g and contains 11 g of sugar.

What percent by mass of the bar is sugar?

o .
1 = 1 =025 =25% 25% of the bar is Sugar

44 4

9) If 85% of the regular price is $21.10, then what is the regular price

85% of Regular price is $21.10 The regular price is $24.83

0.85 x n = $21.10

0.85 x n = $21.10

0.85 0.85
n =$2483

10) There are 23 000 workers in a factory. The management decides to reduce the workforce by
18%. How many workers will the factory lay off?

18% of 23000 is
0.18 x 23000
= 4140
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11. Wi‘ite the numbers in order from least to greatest.

|:I I:I J'E -|| ~ . “ f'}
Explain your strategy.
7 = 35 = 035 =35% 0.38= 38 =38%
20 100 100
9 = 36 = 0.36=36%
25 100 32% =0.32

32%, 7, 9 , 0.38
20 25

The Grade 8 students of a school must take on one of these activities:

sing in the choir, play in the school band, or take part in a drama.

There are 21 students in the choir, 24 in the band, and 15 in the drama club.

What fraction of the students are involved in each activity? Write each fraction as a per:

Total =21 + 24 +15
= 60 students

Choir 21 7 =35%
60 20

Band 24 =2 =40%
60 5

Drama 15 =1 =25%
60 4

An antique vase was priced $120. After 5 years, the value of the vase has
increased by 20%.

What is the new price of the vase? Show your work

120% of $120
1.2 x $120
$144

The vase is valued at $144
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What do you know about ratios?
Discuss advertisements on pg. 264 with students.

Ratios

A ratio is a comparison between two or more things. There are
three
forms in which you can write a ratio:

1) using a colon, 4 : 7

2) using the word "to", 4 to 7 Vo)
3) as a fraction, 4 _5 Comeare »
7

In each case, it is read as 4 to 7. A ratio does not mean much if you
do not know what you are comparing. Therefore, it is always
important to state above the ratio what you are comparing:
boys to girls
4to7

Also, order is very important with ratios. The ratio boys to girls is
not the same as the ratio of girls to boys, because they are not in
the

same order.

You can have a two term or three term ratio.

A part to part ratio is comparing one part of a collection to
another

part, for example boys to girls. A part to part ratiocan not be
written as a fraction.

T re]’? ! rrtnOF% ool%o%)taf 3 }grggﬁyla,gtlljt{%sgt%lelaec%gﬁe E)f the collection to the

whole collection, such as boys to all students.

1_2.>2_4
32 4 6 ¢

You can find equivalent ratios the same way you find equivalent
fractions, multiply (or divide) each term by the same number.
ex. boys to girls an equivalent ratiois: b: g

4to7
?( 8:14
12:al
Putting a ratio in lowest terms, is the same as putting a fraction in

lowest terms, divide by a common factor, until the terms have no
more common factors.



gr 8 u5 per day 12 ratios (quiz Day).notebook April 02, 2019

Two-Term Ratig&‘ Three-Term Ratio
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1. part-to-whole ratio q - 1 .S
Pasketbaldl ¢ Whole
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‘) 2. part-to-part ratio
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Write each part-to-whole ratio as a ratio, a fraction and a percent.
Round percents to 2 decimal places.
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Write each part-to-part ratio.

a) cars o vans b) footballs to baseballs
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At a class party, there are 16 boys, 15 girls, and 4 adults.
Show each ratio as many ways as you can.

a) boys to girls

b) boys to girls to adults

c) adults to total number of people at the party

G bie ) BieIA o AT
16 . 1% ¢ 2194 :
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Homework pg. 266 #%4, %25
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Name:

Grade 8 Quiz on Unit 5 (Percent)

1) Complete the chart (Always reduce fractions to simplest form)

Fraction Decimal Percent

0.56 %

0.22

6
5

2) lJimis fourteen and is 82% of his adult height which is 150 cm. How tall do we expect him to be
when he is 357

3) The population of a village was 26 000 people in the year 2011. Due to very few job
opportunities 15% of the people move away in 2012. In 2013 the population decreased by 0.5%
that of 2012, what was the population at the end of 2013?

4) The cost of a shirt is $64, what is the total cost including tax? (13% tax)
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